block , then | will get this error. We can simply use brackets to avoid confusion, says
Bhaiya. Operator precedence table increases from bottom to top and left to right.

Bhaiya explains how we can find all the digits of any number. We have to run the
loop until the N is 0 in rem =n % 10 in rem. It will run this solution on multiple test
cases and tell me whether my code is correct or not Accepted See. In this video, we
talked about operators, For loop, precedence, precedence and variable scope. We
also solved 2 questions where we beat 100% solutions by our run time efficiency of
our code. But if you want to do those questions, then | will list down them here,
you can solve them. Answers to all the MCQ questions should be written in the
comment section. We will meet in the next video where we will solve these
questions. Video length is too much these days so | need to think something about
it. Will see you in next one, till then, Bye.



